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QUESTION 1

Which three privileges are available to the vsadmin role? (Choose three.) 

A. configuring protocols 

B. managing volumes, except volume moves 

C. setting physical port speeds 

D. managing LUNs 

E. managing aggregates, except aggregate relocate 

Correct Answer: ABD 

Reference: https://library.netapp.com/ecmdocs/ECMP1368701/html/GUID-FFE11F8C-490B-4D6D-
A18E3488275029C7.html 

 

QUESTION 2

Which three statements are true for mailbox disks per node in an HA pair? (Choose three.) 

A. Six disks are required if the root volume is on a mirrored aggregate. 

B. Two disks are required if the root volume is on a disk shelf. 

C. Four disks are required if the root volume is on a mirrored aggregate. 

D. Eight disks are required if the root volume is on partitioned disks. 

E. One array LUN is required if the root volume is on a storage array. 

Correct Answer: BCE 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492713 (8) 

 

QUESTION 3

Which two interface group types enable the load balancing algorithm to be used? (Choose two.) 

A. load balance mode 

B. QoS mode 

C. dynamic multimode 

D. static multimode 

Correct Answer: CD 
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Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUIDF4924A4C-9B7B-4281-BD07-A2F195BAC42D.html 

 

QUESTION 4

An administrator is configuring an aggregate to use FabricPool to take advantage of auto tiering. In this scenario, what
are three requirements to accomplish this task? (Choose three.) 

A. volume with space-guarantee none 

B. FabricPool license 

C. intercluster LIFs 

D. volume with space-guarantee volume 

E. AFF array 

Correct Answer: BCE 

 

QUESTION 5

Click the Exhibit button. 

You are asked to identify cache hit rates on your FAS8200 HA pair NAS volumes. You need to increase 

performance of your HDD cluster1_01_aggr1 aggregate. 

Referring to the exhibit, which NetApp technology achieves the requirement? 

A. FlexCache 

B. Flash Pool 

C. FabricPool 
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D. MAX Data 

Correct Answer: B 
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